stugal MTIE RAMK Y HAH AKX

Asnsstn (B4)
098 09 (%) 092 10 (3) 098 1Y (%) 098 12¢(=2) 098 132 (2)
SR ES T S ILSHIYEH( RS | - 1228t S 12 2CY LS |- 1RXI MO Y
S EREER(DX |)(5.6.10.13) - 1R DIIM20] | 2(X2)(5.6.13) |2(5.6.16.18)
)(1.5.6.9.10.15.16| - 122 DDI|0tQE |(5.6.10) AR EZESE [ 1g20UEED
.18) SEHEN - 12223 (1.9)|(1.2.5.6.9.10.13.1((1.2.5.6.10.12.16)
1K ZHIZXE [)(1.5.6.10.13) - DINRE (X8 |5.16.18) 1Axzuse=
2/(5.6.9.10) - 102 At )(5.6.13) S 1HOIHASER [(5.9)
S1BUSHE2E [(3.5.6.7.13.18) -fouegireln [(5.6.9) - HASHES (R
=2t (R+8)(5) S IP20HHAYE |A(1.2.5.6.12.15) | - IEDIESE MY |8)
St DAl ofoFaf CISER01/LEF[(H2)(5.6.12) - 120148:0/(5.6) | = - 1H2S2H01(1.5)
(X+2)(5.6) clAEA™ -1Z2tZ(1.2.5) [(1.2.5.6.11.12.13) | - 1A= XI(9)
- 1E202%(9) (2.5.6.10.12.15.16 CIMSERES - 10t = (11)
S1yesx a4l |) (1.2.5.6.12.13.17) | - 1ZB(X2)
- 1222 (9) - 1ZEXI9H 3 7Ol (Rt
SaEEEe P2 =
E(2) )(2.5.6.12.13.16.1
S1R2AH (1) 8)
- 1= XI(9)
- 1maY(12)
=2 HE FEZ
jesRel A ooket oker et A orat Horet
o HE Y e
Ol A XI (kcal ) 724.33 724.33 -0.7 753.4 711.9 673.8 669. 1 789.6
Et=312(9g) 58.3 101.8 9.2 93.6 103.4 133.0
CHEH Xl (g) 18.92 18.92 15.7 33.7 30.2 29.1 21.7 26.6
NEH ) 25.9 23.0 24.4 21.3 18.3 16.5
HIEF2IA(48 RAE) 162.05 229.13 145.8 105.4 7.4 218.8 133.9 193.7
EI0+2!(mg) 0.31 0.37 0.7 0.9 1.3 0.4 0.3 0.4
22 Z2t8!(mg) 0.36 0.43 0.5 0.6 0.4 0.6 0.3 0.4
HIEHRIC(mg) 24.87 31.72 31.2 63.6 44 .2 9.9 18.8 19.7
25 (mg) 242 .25 290.31 197.6 222.6 194.2 174.0 232.4 164.7
&H=2(mg) 3.71 4.79 3.4 5.1 3.7 3.1 2.2 2.7
# U= AAAEFHAZF £10%, TAERE BsE(55~65%) ¢ A (7~20%) ¢ A (15~30%)
* 1g9 ol A](kcal) & ©stE 4, @4 4, A9 9kcalZ 4t

¢« F AF AAGe DaAVE FaANA GgBe] BFuch
* A 27 AR

=
01. %, 02.9-, 03.4Wl, 04.%3F, 05.t]5F, 06. =0, 08. A4, 09.A1%-, 10.5) A 7], 11. 8%}, 12.EulE, 13,0}
SFAF, 14.35, 15.937], 16.4a17], 17.249], 18. Z/MF(F, A&, T3 =), 19.%
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